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	Our campaign is (                ) at young adults.

	The team members have to (                ) with each other.

	We get discounts when we buy materials in large (                ).

	We met at the conference (           ) (                ).

	We (                ) an advertising campaign for our new products.

	It is (                ) that the company is not doing well.

	I'm (                ) about the company's future.

	I (                ) my success to my colleagues.

	The company needs a clear (                ) for the future.

	I just (                ) three hundred dollars from my account.

	I (                ) misplaced the folder.

	She was unfairly (                ) from her post.

	He's (                ) at a magazine.

	What are the (                ) in this salad?

	Lucy Hill is quite (                ) of learning new skills.

	We haven't reached a (                ) yet.

	The (                ) exit is down the hallway.

	They're (                ) the truck with boxes.

	Please try to be (                ).

	The two banks are discussing the (                ) of a merger.


